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l. (a)

2

write short notes on the following explaining their effect on underwriters'
liability with example :

(i) Marked and unmarked applications.

(ii) Normal and Firm Underwriting. (6)

OR

(a) Write a note on book building process? (5)

(b) Balance Sheet of Miraj Ltd (Listed) on l"tApril, 2023 was as follows :

Particulars {
Authorised Capital 50,000, Equity Shares of I0 each 5,00,000

Issued and Subscribed Capital 25,000 Equity shares of 10 each firlly paid 2,50,000

General Reserve 2,75,000

Profit and Loss A/c 1,25,000

12% Convertible Debentures (5,000 Debentures of {.100 each) 5,00,000

Other Secured loans 2,50,000

Current Liabilities 6,00,000

Property, Plant & Equipment and Intangible Assets 8 00 000

Cash balance 2,50,000

Other Current Assets 10,00,000

(b) on I st April 201 9, vivek Limited granted l 50 stock options to each of its
800 employees @ t30 depending upon the employees at the time of vesting
of options. options would be exercisable within a year it is vested. The Fair
value of a share issued under ESop was (70. These options will vest on
31"tMdrch 2022. The exercise period is one year. 6000 options lapsed on
3 1 st March 2020. 4,500 options lapsed on 3 I " March 2021 and finally
3.000 options lapsed on 31st March 2022. 690 employees exercised their
vested options within a year and remaining options were unexercised at the
end ofthe contractual life. Pass the necessary journal entries. (9)
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On 30ft |:utrie 2021 the board oi directors decided to:

(i) Pay interim dividend of l0% in cash.

(ii) Issue right shares in the ratio ofone share of Rs.l0 each at Rs. l5 for

every five shares held in July 2023. This option was taken up by

all the shareholders. All shares were issued and cash was received in

ul.

The interest on debentures is payable annually at the end of the year' The

debentures are redeemable at a premium of 5Yo in five installments starting

from the current year. The debenture holders are given an option to convert

50% of their holding into equity shares at a predetermined price of(15 per

share and balance payment to be made in cash.

On l"tOctober,2023 the company purchased 300 debentures @ Rs' 99

cum-interest and immediately cancelled the debentures. On 31"' March 2024,

Holders of 100 Debentures opted to get their debentures redeemed in cash

only while the rest opted for getting the same converted into equity shares

as per the terms of issue.

You are required to journalize above transactions in the books ofthe company'

Show the calculations clearly. (10)

2. (a) Write short notes on :

{(. il1
(i) Operating cycle

(ii) Related Party u/s 2(76) of Companies Act 2013.

*

ew Delh

(4x3)
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(iii) Interim dividend and final dividend.
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(b)

4

From the following infqrmation, prepare statement of Changes in Equity of
XYZ Ltd. for the period ended 31", March,2O24

(12)

OR

Particulers

Equity Sharc Capital in the beginning s00

Retained Eamings in the beginning 250

Securities Premium in the beginning 200

Capital Redemption Rdsewe in the beginning 150

Revaluation Reserve in the beginning 140

Correction ofprior period errors resulting in increase in profit l0
period foreiincluding

ti
etN forIncome tle 4Rs netcrores n( ongal cn

Exch transla on 20

Revaluation gain on property, plant and equipment l0
Profit on re-measlring ofFinancial Assets held as Avaitable fo sate l5
Effecti fai Hedgingve of n rportion alue ofchangeupward Instruments tn Cash
Flow 25

Dividend paid 50

Issue of2 crore new equity shares ofRs. l0 each at Rs. g0 each

crore equity shares ofRs. I0 at Rs. 60 €ach out of securities
um

Buy back of I each

Issue of bonus shares out of Capital Redemption Reserve 100

E@

2. (a) From the following information, prepare a Cash Flow Statement :
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Particulars 31.03.2023
(r)

31.03.2022
(r)

Share Capital 4,00,000 J 00 000

General Reserve I 40 000 1,10,000

Securities Premium 20,000 10,000

Profit and Loss A/c 45,000 22,000

Non- Cunent Liabilities (10% Debentures) 1,00,000 I 50 000

Trade Payables 74,400 90,000

Others Current Liabilities (Unclaimed
Dividend)

4,000

Short-term Provision @rovision lor Tax) 40,000 50,000

Property, Plant & Equipment 4,29,250 2,98,000

Intangible Assets (Goodwill) 90 000 I 00 000

Non- Current 10oZ Investments 60 000 1,00,000

Inventories 80,000 50,000

Trade Receivables 1,10,000 I 60 000

Cash & Cash Equivalents 42,500 20,000

lnterest on Investment 1,500

Other Current Assets (Prepaid Expenses) 5,750 4 000

Underrriting commission 4,400

Additional Information :

(i) 5% depreciation has been charged in the accounts on plant and

machinery.

(ii) Old machines costing {50,000 (WDV. t20,000) have be sold for
{3s,000.

(iii) A machine costing 10,000 (WDV. t3,000) has been discarded.

P.T.O.
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(iv) (10,000 profit has been earned by sale of investments on 1" January

2023.

(v) Debentures have been redeemed at 57o premium at the end.

(vD t45,000 income tax has been paid and adjusted against Income Tax

Provision Account.

(vii) Dividend paid during the year 26,000. (18)

(b) Explain with example :

(i) Debt-Equity Ratio

(ii) Return on Equity (6)

(a) Ram Ltd. proposed to purchase the business carried on by M/s P & Co.

Goodwill for this purpose is agreed to be valued at t\4,o years purchase of
the weighted average profits ofthe past three years. The profit of last three
years after tax @ are :

Year Amount @s)

2020-2021 12,42,0N

20zt-2022 10,20,000

2022-2023 14 0 1 000

On scrutiny of accounts, the following matters are revalued

(i) On 3l't December, 2021 a malor repair was made in respect of the

plant incurring Rs. 50,000 which was charged to revenue. The said

sum is agreed to be capitalized for goodwill calculations subject to

adjustment of depreciation of l0Yo p.a, on reducing balance method.

(ii) The closing stock for the year 2020-2021 was overvalued by

Rs. 15,000.

J
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(iii) To cover increased management cost, an annual charge of Rs. i5,000
should be provided for in coming years.

(iv) Rate of tax is 25Yo from 1"'April 2023 onwards.

Compute the value of goodwill of the firm (8)

(b) Enumerate the factors affecting brand valuation. (4)

(c) From the given information, calculate the value of Brand under Potential
Earning Model

Particulars Rs. In Lakhs

Profit before Tax 10 000

Tangible Fixed Assets 30,000

Identifiable Intangible Assets ottrer than Brand 500

Weighted Average Cost of Capital + Normal Spread 20Yo

Capitali sation factor for Intangibles 25%

Tax Rate J0o/o

(6)

OR

(a) Following particulars are available in relation to a company:

(i) Equity Share Capital:

10,000 equity shares ofRs. l0 each fully paid.

20,000 equity shares of Rs. 5 each, Rs. 3 paid

(ii) Preference Share Capital: 2,000 12% Preference Shares of Rs 100

each fully paid.

(iii) Reserve and Surplus: Rs. 30,000

t"
*

€hl\J
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ow Dethi.

(iv) 8% Debentures: Rs. 1,00,000
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(v) External Liabilities: Creditors Rs. 24,000; Bills payable: Rs. 12,000.

(vi) Average normal profit after tax earned each year by the company:

Rs. 57,000

(vii) Transferred to general reserve from surplus in the statement of profit

and loss: Rs l0% ofprofit after tax.

Assets of the company include one fictitious item of Rs. 1,600. The normal

rate of return of the equity shares of this type of company is l0%. Ignore

goodwill.

Compute the value of the equity share of the company as per (i) intrinsic

value method; and (ii) yield method. (9)

(b) From the following data compute the Economic Value Added and Market

Value Added :

Equity share Capital (Rs. l0 per share, fully paid) t 1,600 crores

l}%oLong - term Debt { 320 Crores

lnterest { 32 crores

Reserve and Surplus

Profit before interest and Tax t 1,432 crores

Tax Rate 30%

Beta Factor 1.05

Market Rate of Return t4%

Risk premium 4Yo

Quoted price of an equity share in market <45

(e)

{ 3200 crores
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4. (a) Write the salient features

Combinations"?

relating to "Business

(s)

9

of Ind AS-103

(b) Distinguish between alteration of share capital and reduction of share

capital. (5)

(c) Given below are the extracts from the Balance Sheet ofV Ltd. as at 3lst
March,2023 :

Particulars Rs. Lakhs

Equity Share Capital of l0 each fully paid 250.00

8% Pref Share Capital of 100 each, fully paid 50.00

20.00

Profit & Loss A"/c 16.10

Statutory Reserves 5.00

50.00

Trade Payables 140.00

Properly, Plant & Equipment r 50.00

Goodwill r 69.50

lnventories 55.00

Trade Receivables 65.00

Cash at Bank 91.60

The business of V Ltd. is taken over by P Ltd. as on that date. Prior to

absorption, V Ltd. decides to declare and pay equity dividend 5o/o. P Ltd

agreed to absorb V Ltd on the following terms :

P.T.O.

General Reserve

10% Debentures
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(i) 50% of Property, Plant & Equipment are taken over at 10070 more

than the book value and the remaining Property, Plant & Equipment

are taken over at 20o/o less than the book value.

(ii) Trade Receivables are taken over at book value subject to an allowance

of l0Yo to cover doubtful debts.

(iii) Trade Payables are to be taken over subject to a discount of 5olo

(iv) The purchase consideration payable by P Ltd. was agreed as follows:

The issue of such an amount of fully paid l4Yo Debentures in P Ltd

at 96 per cent as is sufficient to discharge l0% Debentures in V

Ltd. at a premium of 20 per cent.

The issue of such an amoutrt of fully paid l0Yo Pref. Shares in P

Ltd. at l25o/o as is sufficient to discharge 8% Pref. Shares in V

Ltd. at a premium of 20Y..

Pay cash @ Re. I per share in V Ltd and Issue one Equity Share

of l0 each, 8 paid up valued at 15 per share for every two Equity

Shares held in V Ltd. Thc market value of an equity share of P

Ltd. at present is 100.

Shareholders holding I Lakh equity shares in V Ltd did not agree

to the scheme ofabsorption. Hence they are paid cash equivalently

by P Ltd.

(8)Calculate purchase consideration.

OR

(a) Given below is the Balance Sheet of Sorry Ltd as at 31"' March 2023.
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The following scheme of reconstruction was duly approved :

(i) Equity shares were to be reduced to I each.

(ii) Preference shares were to be reduced by 2 per share.

(iii) Debenture holders were to forgo their unpaid interest 5,200 which is

included in sundry creditors.

Particulars
Amount

(Rs.)

Share Capital:

Authorised:

30,000 Equity Shares of l0 each 3,00,000

30,000, 13% Pref. Shares of 10 each 3,00,000

Subscribed, Issued and Paid-up Capital

20,000 Equity Shares of {10 each fully paid 2,00,000

18,000 13% Pref. Shares of l0 fully paid 1,80,000

Reserves & Surplus:

Profit and Loss Account (40,000)

Worknen's compensation fund :

Pune 20,000

Bombay l0 000

Secured loans:

12% 'A' Debentrres secured otr Pune Property. 30 000

12% 'B' Debentures secured on Bombay Property 35 000

Current Liabilities & Provisions:

Current Liabilities: Sundry Creditors 25,000

Fixed Assets:

Pune Property 1 60 000

Bombay Property 1 )i 000

Plant and Machinery 1,50,000

'Investrnents: 10% Govt. loan earmarked against Workmen's cort
Fund

pensation
30,000

P.T.O.
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(iv) 'B' Debenture holders agreed to take over the Bombay property at

50,000 and paid the balance amount due from them in cash.

(v) Workmen's compensation fund (Bombay) disclosed the fact that actually

. there was a liability of 2.000 only. As a result the relevant fund amount

balance was to be brought down to the required amount. lnvestments
were realised at l0% above the book value.

(vi) The Plant and machinery were to be written down by t90,000.

(vii) Any balance temaining was to be applied as to 7 5o/o in writing down
Pune property and 25% transferred to capiial reserve.

You are required to pass the necessary journal entries and prepare the
Balance Sheet after reconstruction. (15)

(b) Define amalgamation in the nature of merger specifying its conditions.

(3)

5. (a) Information relating to segments ofV Ltd is as under:
(Rs in Lakhs)

The company management wishes to know from you which segments need
to be reported. Comment. Will your answer be any different if in last year
company had A, B and D as reportable segments. (8)

(b) List out different types of capitals that needs to be reported in integrated
reporti4g. Explain any two. (7)

OR

Write short note on :

(i) Board of Directors' Report
(ii) Components of Segment Reporting as per AS 17

(iii) Sustainability Reporting

Segnents A B C D E F G TOTAI-

Segments Revenue 500 150 50 70 60 90 1000

Segments Result 40 (60) 90 10 (t2) 11 9 88

Segments Assets 50 ,'^ ')i 15 25 300

(5x3)

80

40 I30
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(c.) ffn frv w G'gfl) ct ffi.( ft'qfi ftfrs, + Erffi at trffi rn a:r$ sqn

d wq fit l, ssrtrur (Bf,:
(i)frB-c *t sRFd qr+q'{t

(il)m{rq *tgpsrffi irqi-{r (c)

(rr) r uta eotc Eil, frao, ftfr-s i ffi* soo 6{qlRql d frsfr fts RI+ * ttc
c,,{qrRfr d ftR * rgan <go d rt vt tso rdq'm frqe frqrr ftc-tq v+'q{
+ rtdrffiftsllITAfru-sm ilrfrd*urwrr {mc+ efd{ilwtfrs
rc c*. *{i ur ;fuo 1a <zo qrt t fro-dc al ql zozz d srdEfl ffir froe
qrgqfr{rfrq ff+t& a-sEws{*r sr cI{ zozo d cooo froarrclqi wr
sr cr{ zozt d asoo ft-*-etcFad rrq *t s-trfr: at crd zozz d sooo fu-fr
qqrq * rlgr 6eo o{qtfrd * rq s{ + $-dt sc+ fiBd RqFql qir 3q+{ frqI

ft fi{dftq irqfu + S-d + As Rq-d or 3c+.r ;rA ftqr wtt 6as5 r*a
(c)

(q) Ee ffir xfr,cr tn ffita frsff ftftsr (s)

(re) ftril ftftas (qfi-c-€) fr tfr( rt-c r uld, zozs d frqtm fr '

Bfiq
qrfufdtq{trS <so,ooo, <to ufrEft-f rtw 5,00,000

ffi 3{trsfia-dr.i$<zs,ooo qb8irqr tro sFfr {ufurrt 2.50,000

qrqFqo{RfkdBfu 2,75,000

erq qt{ilFsra 1,25,000

12"a gqffsffiq ffitqq 1<. too ufr b'ffilw s,ooo; 5,00,000

opqqqr+&*ur 2,s0,000

qrEM 6,00,000

ffi, €riz qh sqfiq aqr vqd onRrqi 8,00,000

+o-qe-orqr*s 2.50,000

or<vrqolffioi 10,00,000

'1.

P.T.O
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so Er 2o2s * Rflo, Ts{ + ffolc frqr ft:

(i) r+.c i roz eiafrr emrw qr nrnm dfrvr

(ii) Ear$ ,or. q v*o crq ffi S frs rs rqt I ro wt cfr * vo *s{ *
rnvrt t rrrc ict irft dfusr m fr6-dc <rft M em s,q-arq rrqrr qS

*fivrtfrsrrv fltSrtmmgarr

€tqr qt qre qrfifa umn vt s{ * rc { tq ttrr tr €*il( TdcFT sS i gs drr
cfu EffiI + s z fi ftq{ ct *T{ fu c Er 116,+ * r ffi{ qr(q+ d T{6 so "z ikrr
q}fls cfr *{R + {4HqRd qa w rM *qt- + cFsHil qr& ar ftr,-tq frqr

vm I str tv Srrarrmc t fuqr urwrr

r trqr, zozs d qv* * soo €*-q{ 1ee d Er vt qrfi cBr EAt *( Etd

€trnf d re 6( frlrr sr qr{ eozc d, mo R}qt + urd + Asil r*-c I qc+

Eilqt d tqr+ 6r fttc gir, vsB, cffi + fufil rmT * rgsr s+ Effi ffi
{ qftcffiil qi<t+ 6r frc-e Xarr

rmd sffi * ce cr* I Bctffi +{-h fr r*a yanr qr* il Esqr rrqcr*

dsqrqt Enkr (ro)

2. (c.) frctR&a vt riBq tqfr ftkq:

(i) ffitur ro

(ii) cH sER{q zors d unr z(zo) * rrerftc qwonr

(iii) trdR{iilqrcr *( ffiqarqt{r (l,s )
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(1a) ffikr vr<oft * srur w, xyzLtd. *.fts sr cr{, zozn d sqrq Et wq&

t frs EM d gv vMr or knE +qR *Fdqt

ftqqur r o-$g

qrt'{iqR-Aiwtfi 500

s*{frcfudrdBqrfi 250

err{frcfrt{frfrfrcq 200

qrtt{Ctfiqt+t.}rrlenfift 150

qrt{frTfus{ Gtmerdftfu 140

M cr{fu 01 Zed or gun frmt mr fr EE g{ 10

ordfu t frq tr{d onq 6dffi gil t qtrqFfd 6s{r + 6-i-g sqq E r
q:aomron+qtro

ffi, ririr qtr sr6-{q w gfiF{H tltFlf,rt{ l0

trfrq €qfutl& gl*aTrfiq w dr{ d M } fuq sctrd{ t 15

To( nqr6 tq fr tFtq B$o-iuil fr skd qs C g,w qfr Bht
qhicdao.rcqrfrtrsr 25

trfiiRrr{rql 50

ro o. cfr &' eo o cfr *qt at arw z o-irg wtfu cq qE-A
trrtft,fufrc.rs
qfrr{frfrfrqqfrt rot. qfrilooo. qR6l<tw r o-O-guqq
bsE-Effio1g-+dfrd

tS tr{r rrnftrd hft fr € Et{s {rfi qrfr o-r+ 100

(rz )

STstaI

(c.) ffikr vrq-6rt + srur rlRT w;r*..ft nqrr krur frqn dfrq:

P.T.O

20



frrwr 3t.o3.2023
(t)

3t-03.2022
({)

++t{S 4 00 000 3,00,000

qrqFqqnRmfrfu 1 40 000 1 I 0 000

qFdrifrfrRqq 20,000 10,000

mruolteficror 45,000 22,000

fu-qrqerdrqtroxEilag 1,00,000 1,50,000

qMRtq 74,400 90,000

.]rq qrEt{drq ferod ontiqU 4 000

orsqff"rfrfi qlqelr{ 
Co-q b ftS qrsqH) 40,000 50,000

€qfr,€.q7qhgqfiTq 4,29,250 2,98,000

or{dorrfuqielgft-o 90 000 1,00,000

fu-srqroxfraql 60 000 1,00,000

{dfl 80 000 50 000

qIqRglq 1,10,000 1,60,000

ro.sslrrfi-(srEil 42,500 20,000

ftlsrqtqrq 1,500

er<arqonfuuigf,fiqs) 5,750 4 000

Erffi3i6-{o.${i 4 400

3701 16

srRfram qrrert:

(i) da-* *t rlH w rsr+ d s% rreftlnr yqrRa frqr rrqr il

(ii ) snff rfi-+ * <so,ooo d retft r{ S (eq{ft <zo,ooo ) <ss,ooo t +S r{
*r

(iii) w cfiT d no,ooo i et& rr{ S Fqee <s,ooo ) d q€ 6r Rar {qr
*r
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(iv) r wt<t zozs d frfur d Rfr arrao,ooo ei atc afrt( frqr rnr il
(v) 8++tqr u<il s%ftfr{qvt*qrft'qrwrtr

(vi) tlspoo ilT.tfiI :6I tril{ frar rrqr I ak arffi{ vrqqm €r+ + frqe

<qrifrrt fr-qr:rqr *r

(vii) s{ * &r;r yr<m ftar rrqT f,rril{r uc,ooo il (re )

(e) Ycrriur qB( rslu dfrs:

(i) c-S Eka qqm

(ii) rffivtvkam (o)

(c.) rm frfrts * M p a co. Etr sarc nr € qqqrq d refta+ er rtare {€I it E{

31e + ftq gskd cr 1r rfta + #{ sfr + *sd mq * i s'it d €t{'R
frqr rrqril M fi-ts,it 6raF{6( *qrq mfu{:

s{ rmrtu ({.)

2020- 2021 12,42,0OO

r020,000

2022-2023 l4,01,000

Erdt- * Erq + +rFr, ffifud cr gqMo-rr frqI {qr * :

(i) sr frer zozr d srr* * gt- c$ q<cm fr u{ M so,ooo wt cr q{
arqt * nq< i utsT rrcrr sm nRr d Tsfra rrqna] * Pds Ed-t;'d 

qt+

+ fts €qfr A rr$ t, * qc A+ Tfircr ts Rfu rox vR s{ * flq-qq *
{fi+ffi+ stftr*r

(ii) <{ zozo - zoer * fts sfr{ €i-+, d *rrd ts,ooo wt afuo. il.n ff rr€

*

E]

li'

coLI

Del

7
*

ftr

P.T.O.
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(iii ) q.A g€ e-{!rr 6pra q} c,qr 6'i+ + fds, il+ cre sd t z s,o oo tq} qr qrFt6

Itrm''6l rerrrfrqr qm qrRcr

(iv) 6t d qt r qlo zoes t zsx ir

v,,{ + nskfl * 1:q "ft 
rrum dfrqr (e)

(q) srs tnrsr el mnfud o,'d sr+ +n-+1 qt<-t ** *r (r )

(r) ff rr$ vrr+,Ift +, qt{rBd q,ln€ d-sa * rrrr ars * {s{ fr zrsHr dfrqr

fu{rq t.crsit
o-t{dcrtr 10 000

qf v-+oerfroi 30,000

ois & .lrenr w-qri *rq Br{d cnfrqi 500

ffi ern a1 urfta ortsd a qrqrq Ss 20%

or{dorrRdbftqqfiotulorro 25%

o-ro1er 3Qo/o

(c )

STqAI

(c,) elr* t ffifr ffikt G-+ot grnq l:

(i)Ek6gznSft.

t to cR * f"l'a rre rc,ooo EM *qrr

r. s cR * t'. s y-{fl zo,ooo ER*& irtr

l8
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(ii) affii{rtfi: r.roo yR*Xftrca 2poo,12% smifir
(iii) unkr PE *( fl&*q: r. 3o,ooo

(iv) ez" €tq(: E r,oo,ooo

(v) <ra fu: +{dR r za,oooq fta tq: r rz,ooo.

(vi) nffi air r&*,. c{ orffi( qr * cr€ qt{fl qrcFc drrr: r. s7p00

('ii) an qtErhfr+<"rd ilAAqtqrflq ilrft(fffu{ Biirfu: tfir*cwr(
HI1T i5I l0%

6ffi d wfuql t w qirdqfrqi cir flRa i ffi +r( r,ooo nq* tr E( n?fiR

* qffi * ftd d rlrqFq eil$r E{ r0% *r nekr qi ir+€I fr&qr

6T+ + EM Aq{ + ae d ft<qen qq-+ dfrg : (i) aaffirAe Rh; *r
(ii)scqF&r (c)

(e) ffifut fzT + flrFo. {icl{E il *t crsrR {-f,-4tr6 d qq-+ dfrs :

EhA fur *ff Co. ro ufr tqr, fufo: s-{O < 1,600E-tS

lo%frf6rfu6Bur .32e ff,'t$
qM 132o-{F$

",Rkdffi.firurfuitq < 32oo a'ts
qrqsirrw€5donr { 1,432 EfrE

s-rft1(t 300

fiaon-o r.05

qfudruolsren(t

dRcfrfrqc 4o/o

EMnitC6 {tTrtrrWrIdIIdI <45

(c)

P.T,O.
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(c.) 'qqqrq c+tr+'+'r&d arm-(q-ros d qlr friu-dlfll d frnd? (s)

(q) tc( tfi + fiilu-{ ft i+t tfr * 6'ft + fiq siil( d qilssr (s)

(.r) +i st qd, zozs fr fuR * rgm v lta. fr +*€ fic * sr$ frs rts i:

B-{iur T frRI

t. ro qfr +' Hofd u-eteffi-A $qr tff 250.00

t roo uR, gf-6 q-{d 8% effM Aq{ F} 50.00

qrmqqnlcrdffi 20 00

eH3{hflBsrfl 16.10

srR{i-d 3nilcrdfrf} 5.00

roxffittrt 50.00

qqsqtq 140.00

iiqfr, {Fia fiqtsqfi-rur 150.00

gsfio 169.50

qts 55.00

qrqnsrq{Rr 65.00

to'frTn-f 91.60

v Ltd. 6r irrtqR w <rtq d p rta. ur<r *na ftqr urrr *r in*e-rt rre*, v lta.

EM aFrtrr s z dkr qrft * *r grrcm ol* ql Folq *ft *r p rta. ffike
rrfr cr v rta. qr i[fu[6,rr fi+ + frs q-are *fr * 

'

(i) wfr, q+* sti sr6{Er ei sox <& q:r * roox i aBm 1u w rfu[aur

fr'qr rrqr i *i tc frfr , tt'{ sk sr6ru 6r rfrr6ur 2s% 6'{ ts q( frqr

rm *r

4.
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(ii) qrvt( m uRr v& 1a w rcx d qr * mr rGru a!fr- d c,qt sni *
frs*ur&fi

(iii) qrqnfficld 5%*qr+ indf{frlrwqfir

(rv) r ua. am yr<m ftv Hr+ srt utc 1u cr c-6cR gr u-on ff:

p ua. I rax €*q( 6} tft nfu cr drt frqr uls v} co cfurd A, ak

v lta. d rox Etqt d zo yftrn fifurc rn vqlfur qir++ frs cqk

*r

p Ltd..{ r 2 5 % rR {ufir: nft T rc % rffi m 6 {r+ qr*r d wt or*
q) v ua. I ox sffi ffi 6] zoz fiftq 'R lrrilfu{ 6r+ + frs

cafu *r

vua{c r ftim*Rs;r6'€ lrrdtrqGr f,t(y-fuAEffiSd
*frscmEMic(urt6,'c<rfurmtirn ro *rn,ffir s y'ra

fir frr&q,i?Rfi{er. rc ir prta.*tMftnqrqdqmqrnR

{f, loo wt lr

v Ltd. I r ars Efur& ffi * qrft1 * iliil{ctffir R srqR;r& tr
Esfrs c-t P Ltd. ErT qrre trflT ftqI rrqTr

rHt{1u6rpr+qfr6qr (r)

g9[4il

P.T,O.
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(n) sr rr{ zozs fr ftrR * rgsR sorry Ltd. d +t6 fi-c ffrrr1m *r

$ffi{M d ffifud +ffir AfuTd *fa l,

(i) fie-e *rt d 6{ q't* r'. r yR +sr frq Grqir

fufiq $cclfo$.)
tT{lf*:
qrfoge

u ro qfrf- :o,ooo Efrd tst 3,00,000

U.rogfr& ro.ooo, r:z Gfmq}qt 3,00,000

rwor5e,ffifisq-d-atdi
o. ro uft i- ryfu: u-et zo,ooo Effi {rw 2,@,000

t'.rouftft'q{a, ret re,ooo rrz s{ncrfl+T{ 1,80,000

omfdrdH&.xtroftr+c'
mqoirtgrBem (40,000)

xfuo5en-4wftfu

Cq 20,000

EE'{ 10,000

qcnff:rul,
12%'A' Ed-fl gd et gqft q{ qfu{n 

r 30,000

r z"u"'e' HIe-t qE€ +1 rtqfu q{ sfufd 35,000

arqkcn(.rt*rrcrrn,
qrEm:AEEA-{qR 25 000

.3r-ff3nRqi.

gqaffffi t,60,000

EE-io1ffi 1,20,000

ritie+iq{ffi 1,50,000

ft iu $fuo genq-qr Bfu &' frg r o"z" sror0 rq o1 fr qfkd fu 'qr rrqr 30,000

(ii) uem+ fta1fr tnq 6td a z yR iq{ frqr ilvrrr
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(iii) R*{r qrqit-d i[.t;tT spoo qT wraarqsts<t qrfrrs+frRq+{qnrflRr

tr

(iv) 'a' €+tt qrfri- +sq{ iicfr qr sfuffiur so,ooo i a.t} v< qEqR q€
ril gR st€ IIq {stlI {IsT ;r6-E rI 35r{t

( v) xfr+ gur<-ur fffr (sq€ ) * s€ ila 6r qdrur ft<1 ft qT€f,q q *+a z,ooo

* ffi ff r :rt qfonq €6q ffia ftfu d cq'rqr iq IrRr 6} qr{s{6' IIRI

irrfi artr urm wr frffi d e& 1u t rox qfuft. vt t{rqr {qr glrf,r rrrrl

("i) t€ *{ cffi irT { eo,ooo <} rart t erm vFr cnr

(vl ) r;a *{ rft com tq nRr an rs z 5i ulft t o,q fr qr ilv{r uk zs z ifr
ilRk( fffu +- wdtfi 6 qr* ffr

ilq-d ilrqs*, tr{a nRfuf qrRfr rnrft f *( S{frltur +.o ;gq rt.e +cR 66
tr (rs)

(lr) R-aa d n-fh + G-{c fr qfrrm Afrs *{ Etfr rrdl cr sde t&Pusr (s)

5. (o') v r,ta. + ff t (ft-d vrr+rt ftqEqR * :

(r arei)

q,,r+ e-{a-{ tlFFr qr6 e fr q,k-+ ff fr ftfrEr * flrffqqin *r frqfi
dfrgr wr qrr6r 3rR ft-q ftn cE ffi s{ ffi + qm Qfrd ft+ +rc tr
e, s *r o ++r (e)

tr A B C D E G gif,

{r-d€€qrf 500 150 50 80 70 60 90 1000

qftuncff 40 (60) 90 10 (12) ll 9 88

qrfur[drf 40 50 130 20 20 15 25 300

P.T.O.
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(u) v*ge fttilf& I ftqtd rnl+ + fr s Rtu< mn + {S * tft etrqqr F{+ t ffi
i d sq dfrqr (z)

itrgtrll

ffifud c( ffiR M frtus: (s,,s )

(i) fttvm r.$n fr+d

(ii) As 17 * a1tn t.flt fr,frftr * qam

(ir) frrcarfi,ifrr

(12000)

N

/ew De

\\*


